INFAELE DS B

5T 2 15 £, i 2 A I
JFrH R WRES |EEa/h 0:05:46
2liEK L WS |15 =) 0:05:50
P I HRED R B/ 0:05:52
4|l WRAES | B/ 0:05:52
5] LN TR T B e P AN 0:05:58
6°F W WRES |56/ 0:06:01
N"=s FEE WRES |5 —/ 0:06:05
S IEESIE) WA |5 =) 0:06:10
ol AR | 0:06:10
LOPKAT  fiic R Rl 0:06:11
11fa7k  +F AR TR/ 0:06:12
12|Z8IF:  BEHA HWHER  [{REa s 0:06:13
13findE: A WD s/ 0:06:17
14|y B AR PETET /N 0:06:18
15[0EK Bl HWHUER  |ZE DU/ 0:06:21
16| kH B WRAES WA/ 0:06:22
171N SHEE WRES | E 0:06:24
18| FM e HEs |EEES PRI/ 0:06:24
Ol HEFE |EEEE TN 0:06:25
20|8KH HTK RS PRI/ 0:06:26
21 WRHES |EEE/h 0:06:27
22| WRES |EEH/h 0:06:27
23|k A4 WRES |56 /) 0:06:28
24|58 —JBl WRES  |EE U/ 0:06:29
25|B9H  BK HHUER  PETET /)N 0:06:30
26| UG FAE WAL PR B 0:06:30
2T\ HA WHES |5 FH/I 0:06:31
28|tE AR HWHUER | RSN 0:06:32
29| & H B WS PETET /N 0:06:33
30111 SCHD oA | 0:06:35
Sl &4 WD | 0:06:35
32|'E 5 WAL |5 =) 0:06:35
BRI Z=H WAL |5 =) 0:06:36
3| BEAD WAL |5 D 0:06:39
35|82 BEFN WAL |5 =) 0:06:41
e\l AT | HRUED |5/ 0:06:41
375 EZE HoRAES PR B 0:06:42
e1S] NI - WAL |5 =) 0:06:46
9= BEF WA |5 =) 0:06:49
4058 =5 HROAUER A H/N 0:06:49
4EA HER WS | 0:06:52
421K Bk WA PR B 0:07:01
3B 2 WRUES RN 0:07:01
VA T N RS | 0:07:04
450/ R WRUES | EN 0:07:04
46|21 IEE WRES |5/ 0:07:13
4715 H BEE HORES  PETET 0:07:15
48|78 H  1EFH WRUES RN 0:07:22
IGAR A I e [EER= AN 0:07:30
N ESEE YN L 95C M A=l 0:07:32




INFAELE DS B

JIEAZJES 4 5 % g & A
S51|APR  FnE WRES s 0:07:42
h2|enA  fit WS |58 =) 0:07:44
53 2R WRES |5/ 0:07:44
S4lBRIL AT e FER= VAN 0:07:55
55|/ R WD |EEE/h 0:08:02
56[F 8y t=IA WRES |56/ 0:08:07
BTIVEIEE  [Alth 95t PR 0:08:14




